Schriftliches Dividieren 1

888 : 2= bl 2=
2022 2 = 666 1 2 =
L84 2 = 6/ 46 1 2 =
82 4 12 = 6 4 2 1 2 =
8 4 4 12 = 86 2 : 2 =
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Schriftliches Dividieren 2

999 : 3= 666 1 3=
333 : 3 = g 6 3 : 3=
639 : 3 = 369 1 3=
88 8 1 4 = b4 4=
8 4 8 1 4 = b4 9 b=
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Schriftliches Dividieren 3

gl48l: 2= 70304 2]=
8 72 12 = 30406 102 =
756 12 = 89 2 : 2 =
362 12 = 936 : 2 =
578 12 = g 78 : 2 =

www.fraumohrsrasselbande.at

www.worksheetcrafter.de




Schriftliches Dividieren U

6/ 42 113 = 71813 113 =
576 13 = 6 78 13 =
48 9 13 = 5 44 13 =
g 57 13 = 7174 3=
8 49 13 = 3801 13 =

www.fraumohrsrasselbande.at

www.worksheetcrafter.de




Schriftliches Dividieren 5

1168/ :2 = b a2 =
11202 112 = 06 : 2 =
118 4 1 2 = 56l 2=
11304 112 = 12 12 =
174 112 = g 2 1 2 =

www.fraumohrsrasselbande.at

www.worksheetcrafter.de




Schriftliches Dividieren 6

2 71913 = 2016 113]=
2 46 1 3 = 8 6 1 3 =
159 : 3 = 2 6: 1 3 =
220213 = 264 1 3=
195 : 3 = b4 s 3=

www.fraumohrsrasselbande.at

www.worksheetcrafter.de




